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AeE 20,375,080 16,003,645 4,371,435
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O 4FH YE0IS S2ITZTA
15,000,0002 * 14} 15,000 0 15,000
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= 25,000 0 25,000
NEE sHE BD ¥ EF
20,000, 0002 20,000 0 20,000
= 20,000 0 20,000
SHU Z0l2 Y2 EH(HYH)
20,000,002 20,000 20,000
= 20,000 20,000
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20,000,002 20,000 20,000
= 20,000 20,000
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= 20,000 20,000
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= 15,000 15,000
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O Bys s TR (HYH)
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O U7e 85012 S2EH(HYHN)
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= 10,000 0 10,000
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0,000,000% 20,000 0 20,000
= 20,000 0 20,000
=ol M U3 9,707, 152 8,204,723 1,502,429
= 3,156,372 3,156,372 0
= 3, 164,000 3,071,000 93,000
p 12,000 0 12,000
s 700,000 0 700,000
2 28,000 28,000 0
= 357,450 263,021 94,429
2 2,289,330 1,686,330 603,000
Sod|BrAlE | 7,551,232 6,211,803 1,339,429
= 3,156,372 3, 156,372 0
= 1,896,000 1,803,000 93,000
s 700,000 0 700,000
= 28,000 28,000 0
< 184,500 90,071 94,429
z 1,586,360 1,134,360 452,000
=SEZNSSSHL AL 1,575,000 1,500,000 75,000
2 1,050,000 1,050,000 0
= 22,500 22,500 0
2 502,500 427,500 75,000
201 LBr2 Y| 15,000 0 15,000
01 Ak 22l 15,000 0 15,000
O AAUATSZUIAY 2|
15,000,000 * 17§24 15,000 0 15,000
207 1RO 60,000 0 60,000
01 ¢RI 60,000 0 60,000
O AASIAZSHYIAY JIZFAHOIHINE)S
o1 | 20,000,000 * 374 4 60,000 0 60,000
SIIPAIE RREl A 340,000 40,000 300,000
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3,000+100,000 300,000 0 300,000
FUSH SUIUFHUIAL (RTH) 820,000 72,000 748,000
s 700,000 0 700,000
= 120,000 72,000 48,000
201 get2Ad| 73,000 29,000 44,000
01 AR 2t 2ldl 58,000 14,000 44,000
Og x =z 44,000 0 44,000
— 8- W22 F8 FUYX
400,000& * 10 ~ 11HEH 44,000 0 44,000
401 Al & HI L 20| 747,000 43,000 704,000
s 700,000 0 700,000
= 47,000 43,000 4,000
01 A& HI 742,590 43,000 699,590
O HESSNT HENA HUSTAHLYH)
700,000,000& * 99.37/100 695,590 0 695,590
s 695,590 0 695,590
O QIEIZHRT BH42 HHIAY
4,000,000& = 14 4,000 0 4,000
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M==Xl =B A 100,000 0 100,000
= 40,000 0 40,000
2 60,000 0 60,000
401 A& HIZ 2 0HHI 100,000 0 100,000
= 40,000 0 40,000
2 60,000 0 60,000
01 Al€Hl 100,000 0 100,000
O MAXI4E HLAY 100,000,000%4 100,000 0 100,000
= 40,000 0 40,000
= 60,000 0 60,000
LM HESAS 561,000 428,571 132,429
= 393,000 300,000 93,000
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= 117,000 90,000 27,000
401 Al EHIZ 2OHY| 561,000 428,571 132,429
z 393,000 300,000 93,000
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2 117,000 90,000 27,000
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28 29 38 03 0 100,000 100,000
ZHE ALY 185,420 143,420 12,000
Il 12,000 0 12,000
7 = 143,420 143,420 0
ANEESRI2 155,420 143,420 12,000
p) 12,000 0 12,000
= 143,420 143,420 0
201 Et2dd| 59,420 47,420 12,000
p) 12,000 0 12,000
= 47,420 47,420 0
02 SE=24H 59,420 47,420 12,000
O 33222 % HMA 59,420 47,420 12,000
— MUW.SHEXIF #II23
23 52,000,000 52,000 40,000 12,000
Il 12,000 0 12,000
= 40,000 40,000 0
sHH8E Al- 2,000,500 1,849,500 151,000
= 1,268,000 1,268,000 0
= 172,950 172,950 0
= 559,550 408,550 151,000
JIHSHEHZ BEE ALY 1,051,000 900,000 151,000
= 630,000 630,000 0
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= 340,000 189,000 151,000
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100,000,000 * 14! 100,000 0 100,000
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=2 (HEE) 24,273 17,387 6,886
2ZH(ALEH) 16,137 17,387 A~ 1,250
201 224 10,634 11,277 A643
01 AtR2tel] 10,634 11,277 A643
O Let==ZHI (0l 5,794 6,437 AB43
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